
AGY31−3N

Foto-Reflexions-System: FRS06a
Beziehung CIELAB (L*, a*, b* ) und adaptiertes (a) CIELAB ( C*ab,a, L* )

l* lab* = ( L*  − L* N ) / (L* W − L* N )

a*a = a* − a*N − l* lab* [ a*W − a*N ]

b*a = b* − b*N − l* lab* [ b*W − b*N ]

C*ab,a = [ a*a
2 + b*a

2 ] 1/2

CIELAB-Bunttonwinkel RYGCBM:
hab,d = [36, 91, 143, 231, 312, 337]

Ähnlich Kontraststufe CYP7

nach ISO 9241-306, siehe
http://standards.iso.org/iso/9241/306/ed-2/index.html

CIELAB-Daten und Y für W und N: 

(L*, a*, b*, Y)W=(91.97, −0.18, −5.11, 80.63)

(L*, a*, b*, Y)N=(6.25, −1.63, −1.73, 0.7)

hab,e = [26, 92, 162, 217, 272, 329]

a*a = C*ab,a cos hab

b*a = C*ab,a sin hab

b*a

Buntheit a*a
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